
MATE 6540 assignment 2

5. Defineamappingof R into R by

f (x) = x(1 + e )sinx.

Find theadherencevaluesof f : a)asx → −∞, b) asx → +∞, c) asx → 0.

6. A family (Ai)i ∈I
of subsetsof a topologicalspaceX is saidto belocally finite if for eachx

∈ X thereis a neighbourhoodV of x suchthatV ∩ Ai = ∅ for all but a finite numberof
indicesi ∈ I . Show thattheunionof a locally finite family of closedsubsetsof X is closed
in X .

7. Exercise5of ChapterIII p.130in Dixmier.

8. Exercise6 of ChapterIII p.130in Dixmier.

9. Exercise7 of ChapterIII p.131in Dixmier.

Marks:9 + 9 + 6 + 15 + 10


